FgArea: [0 ]
NC11 P3-14
2025-04-29 (Day 29)




|||||||

000000000
00000000
88888888



1 VN

20

15

10

700 -
600 -
500 -
400 -
300 -
200 -
100 -







800 -

700 -

600 -

500 -

400 -

300 -

200

100 -

1 VI vs Du

500

T
1000

T
1500
DU

T
2000

T
2500




o
L
—
| ©
N
| ©
N
| ©
—_
| ©
et
o
——0
—
F o
T T T T T T
© o < ™ o~ —
o o o o o o



T—T

20

15

10

120
100
8
6



1 (fgArea = NA)

5000 4/ —@— ECI*10%
—0— ECO

4500

4000

3500

3000 -

2500

2000 -




—@—  PHIX10% |

—0— PHO

7.5




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 ] ] ] I
3500 —>— EcFzExp :
3000 4 —>¢— ECdef :
—>— water_ec |

2500 R

2000

I
1500 -
mooo?x !

1

1

1

I

1000

500 Warning: col ['IEcFgro’, 'EcPltng/ ] is missing

0 25 50 75 100 125 150 175



Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

T
—o— dFVI :
0.04 4 —@— dFV0 :
1
1
0.02 ~ :
1
1
0.00 — G —e——o—a— NG —E— B — B — O — OO —O—— !
1
1
~0.02 4 :
1
1
-0. 04 ~ :
1
T T T T T T T T T I
7.5 10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5
day
T
—e— DUC :
1
1
200 - :
1
1
1
1
150 - i
1
1
o— -’ i
1
100 - |
1
1
1
1
1
50_| T T T T T T T T I
7.5 10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5
day
160 - -
—e— FRV :
1
140 - ,
1
1
120 - i
1
1
i 1
100 i
1
1
80 7 o—a - :
1
60 i
1
1
i 1
40 |
T T T T T T T T T I
7.5 10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5
day
T
—e— FRC :
. 6506 - .
1
. 6504 - :
1
6502 - :
1
. 6500 - :
1
6498 - :
1
. 6496 - :
1
6494 - :
o—o—co—0o—@ CO— OO O— O !
7.5 10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5

day




['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

|

N

400

300

200

100

175

150

125

100

75

50

25

| | | | | |
) ) - - o
o o [2) < 2
) [9) [t — ©
- - T = — w o
22 R z
) oS &
| | ’ | :
W o _ _ o _ ) )
w = 0 = I = = 0
_
) L
MN 2 2 2 2 S
< < < \\ <
W\.\.\_ \\_\\\\ )
8 8 AM 8 _\\ ; M
<
< ﬁ
o) o) e = o o) \V
v ~ ~ _IW ~ ~
< <
? nu
> .
< C
ﬂ g \
A = V / =
> S .
g 2 % s
—— . /
- o .A
> Te— W V
Aﬂﬁ \ ~ |
k M
= o — o o Lt o =
o ) o o o 17 o 153 o 1L o 1’ ©o 1’ o o © ©o o © o ©o o o ) o ) o 153 o~ o © © <
. . . . . . . 8 ~ © © 1 B < I & S & & © & & & o . . . . . . . . . .
§ 8 £ § § £ & o 2 § 88 8 3 § R = < s s s

175

150

125

100

75

50

25



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

1
R I
175 \ i
1
150 r—e —& :
1
125
100 !
1
75 '
H —@— setVl_ETcl
50 A : —0— setVl_fgRec ]
: —@— setVI_VN
25 " ——  siSetVl
1




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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